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MODEL TEST 1

Part | Listening Comprehension
(20 minutes)

Section A

Directions In this section, you will hear 10 short
conversations. At the end of each conversation, a question
will be asked about what was said. The conversation and
the question will be spoken only once. After each question
there will be a pause. .Duri'ng the pause, you must read the
four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the correéponding letter on
the Answer Sheet with a single line through the centre.

Example You will hear:

You will read: A) At the office.
B) In the waiting room.
" C) At the airport.
D) In a restaurant.

Sample Answer [A3 [B] [C] [D]

From the conversation we know that the two were talking
about some work they have to finish in the evening. This is
most likely to have taken place at the office. Therefore, A)
“At the office” is the best answer. You should choose [A]
on the Answer Sheet and mark it with a single liné
through the centre. ‘



A)
B)
A)
B)
A)
B)
A)
B)

C)y

D)
A)
B)

©)

;)))
A)
B)
C)
D)
A)
B)
A)
B)

B)

- €)

10.

D)
A)
B)

<9

The woman. C) Jack.
John, L D) The man.
U.S8.$20. C) U.S.$35.
U.S.$ 30. - D) U.S.$55.
8§:35 C) 10:35.
9:35. D) 11:35.

The man wants to speak to Jim.

The woman wants the telephone number.
The woman wants to see Jim.’

Thé ‘woman has'a wrong telephone number.
She is 1ooking for her new dress. '
.Shé’ is looking for a barber’s. ‘_

She is looking for her hair dryer.

SHe is looking for a clothmg store.

Son and mother. ’

Agsistant and customer, .-

Doctor and patlent

Tax1 dnver and passenger

Electnclan s " ©) doctor.

Clngf engjmeer D) Gardener.

Gas station. C) Doing business.
Buying cars. 'D) The cost of- blcycle

.. A) The speaker-has an.accident.

The speaker has been delayed.
The speaker has been caught by the pohce

_There was a traffic jam in the main street.

He can’t have his meal with the woman.
He will have his meal in his room.



C) He will send his meal to his friend.
D) He needs a doctor for he doesn’t feel well.

Section B S

Directions In this section, you will hear 3 short
passages. At the end of each passage, you will hear some
questions. Both the passage and the questions will be
spoken only once. After you hear a question, you must
choose the best answer from the four choices marked A),
B), C) and D). Then mark the corresponding letter on the
Answer Sheet with a single line through the centre.

Passage One .
Questions 11 to 13 are based on the passage you have“
just heard.
11. A) He had great pains.
B) He had a bad cold.
C) He had a stomachache.
D) He had an accident.
12. A) The doctor’s good friend.
~ B) The tailor’s son.
C) The man who couldn’t pay the tailor’s bllls
D) A helper of the second patlent
13. A) The doctor asked the prekus patlent not to
worry too much. . )
B) The doctor asked the man to take some medlcme
C) The doctor asked. :the man to have a good rest.
D) The doctor asked the previous patient not to pay -
his tailor.



Passage Two
Questions 14 to 16 are based on the passage you have
just heard.

14.
15.
16.

‘ B) She had her first flight. R
- C) She couldn t understand the hostess

A) 6 tourists. ' C) 4 tourists. ‘
B) 5 tourists. D) 3 touvists.
A) 4 Aer'xgines' ' ‘ 7 C) 2 engines.
B) 5 engmes - D) 3 engines,

A) She was very fat.

D) She felt ill.

Passage Three

Questxons 17°to 90 are based on the passage you ’hiva
just heard. »
17. A) In the town of Valley View.’

18.
19.

20.

B) On Highway 28. M ;

C) On a road in New York Clty ' R
D) On the Highway Patrol " C
A) 42. B)37. C) "36. D) 35.

A) The driver was serlously 1n;|ured

B) The driver was aIl rlght

C) The driver was Tost. "

‘D) The Jrlver was kllled A
,A) It has not been found completely

B) The driver was not careful enough.

o The weather was too bad.’
D) The highway had niany curves.

.4.



Part I Reading Comprehension

(35 minutes)
Directions There are 4 passages in this part. Each

passage is followed by some questions or unfinished P

statements. For each of them there are four choices marked
A), B), C) and D). You should decide on the best choice
and mark the corresponding letter on the Answer Sheet
with a single line through the centre,

Questions 21 to 25 are based on the following
passage:

Tt’s easy to blame the teachers, who many people feel
are not dedicated or willing to spend extra time with
students in after-school activities. An angry parent
exclaims, “When the bell rings, it is a race to see whether
the teacher beats the kids out of classroom.” Yes,
teachers feel they are the victims of the system. They see
parents as being too preoccupied with jobs and selves to
take an interest in their children, and point to the
influences of a society that permits drugs and sex to be
sold on street corners as the real causes of classroom
probiems. In addition, they think, many students are not
taking advantage of education opportunities. They no
longer believe that studying hard will lead to a good job
and a better life. Teachers complain that they cannot
teach students who come to class only when they feel
like it: “If parents can’t force kids to go to school, then
we can’t help.” While the form of other institutes in

.5.



society — especially the family — is rapidly changing,
the schools are still expected to uphold basic values and
prepare students to play a meaningqu role in society. The
school is a microcosm (/PXKH#) of the larger society. If
that society has problems, its schools will have problems,
too. Is it really the school’s fault that “Johnny can’t
read ?”
21, From the passage e\know teachers usually expect
the parents will
A) spend mor (R T ith their kids than before
“B) pay mo@ey on the education of their kids
C) give thet’children more punishment if necessary
D) ask for more help from the local government
22, Now students often think of studying hard
as___ .
A) a way to get a good job
B) a way to live a better life
C) a way to change their statues
D) a way to come to nothing at all
23. Which of the following sentences is NOT TRUE?%
A) It’s wrong to complgip teachers about the pré ent
situation.
B) It’s meaningless to spend money or energy on
study. .
- C) It’s, necessary to 1mprove pohcnes carried out by
the government
D) It’s important to force kids to go to school
properly.



24. What does the paragraph preceding the passage most
probably discuss ?
A) Teachers’ opinion about the present situation of
teaching.
) The free public education system carried out in
Acfggrica.
C) Parents are complaining about the quality of
- school education.
D) Students themselves don’t seem to care about
Q  learning.
25. «g(hat is the author’s attitude towards the problem
dlscussed in the passage?
A) Parents should take the most responsibility of
students’ education.
B) Teachers should devote more their energy and
time to teaching.
C) Students should pay an important role in their
own education.
D) The government should pay more attentlon to the
education than before.

Questions 26 to 30 are based on the following
passage: ’ :

There really exists a communication problem be-
tween doctors and patients. Among 105 patients in the
waiting rooms of the various clinics and private medical
practicés during :a t§v0~week period at the hospital, 45
percent of the people said that they sometimes felt the
doctor did not understand the patient’s problem. It is not

.7.



because the doctors pay no attention to the patient’s
minor or continuous complaints, 38 percent thought that
doctors, nurses, or interns (3EJEH) sometimes use
words that are difficult to understand while 45 percent
thought it was sometimes difficult for the patiené to
explain himself to the doctor. 35 percent would prefer the
doctor to speak in simple language. However, only 15
percent would say that the doctor usually expects you to
know medical words, possibly indicating that this just
happens to be the way doctors talk and that the pétients .
are not directly blamed for not being able to understand
the doctor. They would like it if the doctor could modify
his language to be more easily and fully comprehended.
The problem does not sit solely with the doctor as the
only cause because patlents admit to an equal shadre of
“the problem. ,

The doctor’s attitude was assessed negatively by 42
percent of the patients and 51 percent of the inter-
viewees. Thirty-nine percent felt that the doctor’s
attitude is sometimes unfriendly. This may stem, of
course, from ‘a large -variety of causes, but the general
feeling of ‘unfriendliness’ includes most anything. Fifty-
one perggnt felt restrained by the doctor’s attitude,
personal?ty or style.

26. Thg passage is primarily talkmg about

Abthe unfriendliness of doctors to the patients

) the attitudes of the doctors to the patients -

3 the misunderstanding of patients to the doctors

.8.



y the complaints of patients about the doctors
27, t

29.

ients and doctors are often mlsunderstood be

,tween each other mainly because

A) the words doctors use are too difficult to

understand - : -,

B) the patient.can’t explam hlms&lf clearly to the
- -doctor 1-{‘

C) the patient is not familia N ‘the medical terms

D) the doctor pays no attention to the patients’
complaints :

What is the author’s opinion tqwards the problem

between doctors and patients? - :

A) The problem does not sit solely with the doctor.

' B) The problem exists because ‘of the unfriendliness

of doctors.
C) The problem stems from a variety of reasons
unknown to us all,

D) The problem results from the misunderstanding of
-themselves, ‘ g
The passage implies but notpmentions directly that

the patients are expected
A) to know some of the’mellical words -

“B) to take an ‘equal share of discontent

C,) to adjust themselves to the situation
D) to understand the attitude of the doctor

“The word ‘restrained’ in the last @ntence of ‘the

»

passage can be best replaced by *
A) limited ‘ ' C) restricted



